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iL = jb 5F+ #ji j—\ ¥ 2. The load impedance Z, = EQJELISQ is sequentially connected to a 50 transmission
7LL+ t%@&m %ﬁ ﬁ '-G% :l:/ftﬁg&‘-%—ﬁ.{(/é\ EMBA))\E%;%_%I ‘ line. Find the reflection coefficient in dB (10 %)and the SWR(10 %).

B A P18 SR 58 P 5 |
A BRI ; ;

Bk & o B 18 #1H

‘ ! 4 _ —br
FEFE 3. Astatic charge distribution produces a radial electric field £ = A%— ¢ , where A and b
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1. A#smd %E ' oo 100 4 - ' are constants. What is the total charge 07 (25%)
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{1. For an air-filled TEM transmission line (characteristic impedance 50 Q) with a load as
:  shown below. () Find the maximum and minimum input impedances and their minimum
locations, when the load is a 20€2 resistance and the frequency is 1 GHz. (15%). (b) Find
the minimum length of the transmission line where the mput impedance of the loaded '
10"
transmission line is 50j. The load is a 0.02pF capacitance and the frequency is 27

Hz.(15%) (Note: using the concept of Smith chart), : ]
4. A cylindrical soft iron rod of length Z and diameter d is bent into a circular shape of radius§

R leaving a gap where the two ends of the rod almost meet. The gap spacing s is constant
over the face of the ends of the rod. Assume s<<d, d<<R. N tumns of wire are wrapped

v : tightly around the iron rod and a current / is passed through the wire. The relative
{ ook permeability of the iron is z, . Neglecting fringing, what is the magnetic field B in the
¢ ‘ EeS)
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